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Question No. 1 is compulsory, answer any FOUR questions from the remaining.

(i) ¥F 577 & G T ) FHER GF G F B |

Solve all parts of a question consecutively together.

(iii) I Y 1 79 Y8 & IO o |

Start each question on fresh page.

(v) i) uTeIaT 7 3 81 1 1Rt F 3 S 8 M 8 |

Only English version is valid in case of difference in both the languages.

Seared &1 i o fafty sfera savea A gfd Fi 2 2

() o (b) =

(c) H"E (d) T & HIS A&

Which method of production can meet the individual requirement ?
(a) Job (b) Batch

(c) Mass (d) None of these

gar # = 9 1 5l HEd 8
(a) ST (b) qEiFA
(c) Icareahal (d) 3 & g &

Reduction in wastage of resource is called
(a) production (b) forecasting
(c) productivity (d) none of these

(3)  Jeure e = 3 forg wer H fah 3ot @ st 2

(@ ui=E™ (b) o

(c) Uitgesar @) P

In which stage of the product life cycle sales rise rapidly ?
(a) introduction (b) growth

(c) maturity (d) decline
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T ITE F 9REg 90 A Frafd o B

(a) “HUIHS (b) TR &l

(c) s (d) Fwrae

Profits related to new product in its introductory stage are

(a) negative (b) continuously rising

(¢) higher (d) decline

3Tz 3 7 fsieand gl 0 H awEd S Y IMRETH TE R ?
(@) Sedred (b) IOR

(¢) fawom (d) femra

Adding new features to a product is advocated by which of the approaches ?
(a) production (b) product

(c) marketing (d) selling

o 8 @ 99w i e W ena T R 7

(a) H = (b) STEH FESH
CERSEE (d) 3IeTEEHal

Which of the following is independent of demand forecast ?

(a) inventory control (b) production planning

(c) capital budgeting (d) productivity

ey ferfty oo o off sl 2

(a) Tofenes gEiqem (b) TH @ @A

(c) g uioey (d) 390w et |

Delphi method is used for

(a) judgemental forecast (b) time series forecast

(c) associative model (d) all of the above

AT ¥ T G2 U SeIH gaa (Frafi) feer St s e 2
(a) SdTH (b) et (mgd)

(c) =% (@) tvew fagem

Short-term regular variations related to the calender or time of day is known as
(a) trend (b) seasonality

(c) cycles (d) random variations

Wi ye Tfier %1 e 2

(@ F=a-bt (b) F=a+bt

(¢) F=2a—bt (d F=2a+bt

A linear trend equation has the form

(a) F=a-bt (b) F=a+bt

(c) F=2a-bt (d F=2a+bt
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(10) IeaTe HRAIET 1 TR =00 2
(@) &Wal JEH (b) I ) SNETEHAT AEET
© g d) I e ud e
The following is the preliminary stage of production planning
(a) capacity planning (b) material requirement planning
(c) scheduling (d) product development & design
(11) V== Tyega: s # a2
(@) i Pt (®) Il
(c) HidIa @ Fibeo
Gantt chart is mostly used for
(a) routing (b) scheduling
(c) follow up (d) inspection
(12) rcaftres 0 FHAT % THUTHEEEY
(a) fasht @ (b) it vfEes Hiva
(c) UTEs Sfaagar 1 &Rl (d) 3w wH
Too little capacity can result in
(a) lost sales (b) high operating cost
(c) erosion of customer loyalty (d) all of the above
(13) e =y v w9 3 Frafa e a2

(a) iferan Jeared @ i wue x Wit et e wod hi wEan

(b) 3irehan Seurea g i wue / sfar e S =uei i e

(c) Fferhan Jeared TR T2 + Wiy el S Gl i we

@ FHIABETE

Capacity is mathematically expressed as

(a) maximum production rate / hour x no. of hours worked / period
(b) maximum production rate / hour / no. of hours worked / period

() maximum production rate / hour + no. of hours worked / period
(d) None of these

(14) Toraerht sefea amn #1593 2

@ o _ ®) \/%3
© \[3¢ @ \F;‘%
Formula for economic ordering quantity is

@ \[= ® |
© \[-’ZT—Z @ \/%:%
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T ST ¥ 309 8

(a) ~gTam o 3R HAfan T
(b) TG TTH IR YATH AT

(c) Afersham T R FaH ArId
(@) rfermam @y 3R St dFTd
Objective of aggregate planning are

(a) minimize profit & maximize cost
(b) minimize profit & minimize cost
(c) maximize profit & minimize cost
(d) maximize profit & maximize cost

MRP 11 3% fere foran sman 2

(a) =% Aoft Pufor s (b) g wETgA AR

() g ASEEA AR (d) T DR

MRP 1l is write for

(a) material rating planning (b) material resource planning
(c) material requirement planning (d) None of these

T S Y, e, 38 3 e IeTg H1 Iie R 9 Bl SRd HH B
HEd ¢

(a) T FEIT (b) & SRS

(c) TV IWIEA g (d) THHHEAE

Translating aggregate plan into how many & how items are produced and when
is known as

(a) aggregate planning (b) capacity planning

(c) master production schedule (d) None of these

Frofi T F A FQ B R TAH FEE T HE SHH T $ GGeH Bl
FEd 2

(a) oA JTEIE (b) i Eger

() wef fFela (d I A HETE

Total processing time at each workstation is balanced in order to minimizing
idle time is called

(a) process planning (b) line balancing

(¢) machine output (d) None of these
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mm%mmwmmm@mmmm%
(@ Wi Prafr (b) I
(c) W (d) BT

The assignment of specific jobs to cach operational facility during a planning
period is called as '

(a) routing (b) scheduling

(c) loading (d) follow-up

arf frafor | sme

(a) TRl o 3faa I (b) T ATt %1 3 39N
() e ger %1 FEE @ I gl

Routing means

(a) proper utilization of machines
(b) proper utilisation of man power
(c) flowof material in the plant

(d) All of the above

u@mﬁﬁmaﬁtmq&ﬁﬂtmﬁmmi

(@ Wi fFwfo (b) FEERE
(¢) g (d) HEAFA
Fixation of time & date for each operation is known as
(a) routing () scheduling
(c) inspection (d) follow-up

ﬁﬁwwaﬂz%ﬁﬂaﬁg@mﬂmﬁammmmw%
(a) It <hl T (by il it Fef

(c) A & G @ (a)@ (b) 3
Factors that are largely considered in making or buying decisions are called
(a) quality of suppliers (b) dependability of suppliers

(¢) production irrelevancy (d) both(a) and (b)

feu =A@ (I aﬂxﬁqwmwmﬁmﬁq&f@xﬁlﬁ# FER) B
imﬂ%za%%qmtﬁaa;ﬁaﬁugﬂﬂmd’t% ?
(a) wan g (b) FAEREl -
© ()% b (d) el e (o)
Which technique is used in finding a solution for optimization a given objective,
such as profit maximization or cost minimization under certain constraints ?
(a) queuing theory (b) waiting line
(c) both (a) and (b) (d) linear programming
P.T.O.
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(24) Tdra wrETEaT  329E Be 3R 329 FaY (Hgd) §
(a) & fw b TEE
) feard (d) afEe
In linear programming objective function & objective constraints are
(a) solved (b) linear
(c) quadratic (d) adjacent

(25) = ffa=ra Iuges gar 2 9«

(@) 3Rl & e YHR HH uE

(b) IRl % 3t R Al wEr A

(c) IS % HH ISR e qEn §

(d) IS H HH FHR HH WEAT §

Group layout is suitable when

(a) large variety of products in small volume
(b) large variety of products in large volume
(¢) small variety of products in large volume
(d) small variety of products in small volume

(26) EHE AT B @9 2

(a) 9 @G (b) UEEM It €9 § gER

(c) TorEEH guR (@ i adh

Benefit of group technology is

(a) lower cost (b) improvement in time delivery

(c) improvement in quality (d) all of the above

@7 fEdsmw ITw R ade ?

(a) SEGAITREHIAFA (b)) AT T H St
© undedata (@) sggddas
Which is not aim of JIT ?

(@) reduce production lead time (b) reduce setup time
(c) react faster to demand change (d) increase in inventory

(28) JIT aohtes =1 waPT forms fore R stran @ 2

(@ wfig (b) A
(c) oo d) IS Gt
JIT techniques are applicablc to

(@) purchasing (b) production

(c) distribution (d) all of the above
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(29) NTwH e R
(a) fafmadigfe (by 7w e i AR
(c) afmEdwd (d) G I
JIT is a philosophy of :
(a) variability increase (b) re-engineering for break through
(c) waste reduction (d) push production
(30) U FWIEt TIT v % horaey gig 2l 8
(@) @I (b) Tae=awa
(c) TuEET (d) <harEHd
An effective JIT effort should result in increase
(a) costs (b) delay time
(¢) quality (d) queue time =

2. B e WA 3 7 T R 7

What are the main functions of production management 7

(ii) qﬁmﬁwﬁwﬁmaﬁmmm%?
How are future capacity needs estimated ?

(iii) TS GGEH & I T E € 7
What do you understand by line balancing ?

(iv) mam%mwmﬁ?
Whatisthemeaningofgrouplayout?

) 3.3rd. A, 3 et &1 o Hif |
State the benefits of JIT.

3. @) Wm%am’iamavhﬁf@l

Describe the functions of production management.
(ii) @mﬁm%w%m,ﬁﬁauﬁmﬁaﬂmaﬂm |
Discuss the various factors involved in selection of a profitable product.

4. () T Q@A b AEwEHd & ?
What is the need for demand forecasting ?

134

(1x30)

(2x5=10)

(5+5=10)

(ii) ﬁzﬂmﬁmﬁﬁamﬂﬁaﬁaé%mﬂmaﬁﬁﬁmmaq@%m

7 i < g A |

The sale for the car manufactured by a company is given. Forecast the demand

for the car for the next two years ing least square method.
Year /T 2010 | 2011 | 2012 | 2013 | 2014 12015 |
74

[Salesfﬁaﬁlin(ooo) 55 57 60 | 65 69 | 1

(4+6=10)

P.T.O.
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IqE AR 3R P & R gaa 6 snawsas ik Sed ® w faga
feugoft fafigd |

Write a detailed note on information requirements and organisation of production
planning and control.

AT TS, THE SRS 3R 787 Saared ae (fireTer) w fadmm Hifd

Discuss about capacity planning, aggregate planning and master production
schedule. (5+5=10)

. AR . YoEtt &) sueEd |

Explain the MRP system.

HE WIite AT 3, 3Rea, aaenai s afeima @ e |

Explain the meaning, requirements, problems & limitations of man power
planning. (5+5=10)

“Rrefein (sl srgeh amT) 17 el st a2 2 frege $ yeR T |
What is the meaning & function of “Scheduling™ ? Explain types of schedules.
“Fmin 1 @fie” fofr @ s = ang@ 2 2 30 Pola &9 3 R ywifee w0 a@
S| B T |

What do you mean by making “make or buy” decision ? Explain the factors
influencing making such decision. (5+5=10)

R 2FIAI T Feheu1 3R il ) fdaa il |
Discuss the concept and benefits of group technology.
o3&, F gra Il +) auEd |

Explain seven waste of JIT. (5+5=10)

9. T wrafym oot fafed
Write short notes on the following :

®

I a9
Product life cycle

(i) WLIRH. J yEHT SEHHT

Management information from MRP

(i) ST

Loading (3+3+4=10)



